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EXERCISE 4

One Mark questions:

Expand (2X—%)2
Find the product : (n—%)(n+%)(n2 +%2)

Find the value of (100}1)2

If 2x+3y =13, xy =6 find the value of 4x* +9y°
simplify :(vVx +y) (Vx-vy)

Simplify : (2a+3b)’- (2a-3b)’

Find the product : (5a+3b+2c)(5a—3b—2c)
Expand : (2a+b- C)2

Expand :(a2 - 4)3
If a-b=3, ab=10 then find the value of a>-b*
Find the product : (3x + 4y)(9x2 —12xy +16y2)

Find the quotient in (8a3 + 27) +(4a2 —6a+ 9) without actual division.

The product of 3x— 2y and some other factor must be in the form of a*-b%. Find the

second factor.

Write the general form of polynomial of degree ‘n’
If a+b+c=5a°+b*+c®=29, find the value of ab+bc+ca

Choose the correct answer:

(R )
a) 1—x° b) 1—x c) x* -1 d) x—1
(%) = [
a) x2+%2—2 b) x2+%+2 c) x2+%2+2 d) none
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(a+b)2 —(a—b)2 =
a) 2ab b) 2(a”+b?)
(x=1)(X* +x+1) =
a) x—1

(x+27y%) +(x* = 3xy +9y°) =

b) x+1

a) (x+3y) b) (2x-7y)
(x+4)(x—=3) =
a) X° +Xx+12 b) x* +x—12

If a® +b%+c? =ab+bc+ca then

a) atb+c=0 b) abc=1
(a-b)’ +(a+b)’=

a) 2ab b) 2ab?
(V3-1) =

a) 4—243 b) 4+ 243
Ifa+b+c=0then a®+b*+c®=

a) abc b) 0

Fill in the blanks :

(a—b)2 +4ab =

The co-efficient of x in (2x+7) (x-5) is

c) 4ab

o) x}+1

) X* +3xy +9y?

c) X* —x+12

c)a=b=c

c) a’+b?

c) 2-43

c) 3bac

If Xx+y=5and Xy =6 then X’ +y* =
(x-2y+z)* =

3

(a+b)3—(a—b) =
(V&) (Va+B) (a +b)

(5% — 2y)(25x2 +10xy + 4y2)

X°+y* +1-3xy = (x+y-1)(

[ ]
d) 2a’b?

[ ]
d) x*-1

[ ]
d) none

[ ]
d) x*—x—-12

[ ]
d)atb+c=1

[ ]
d) 2(a*+b?)

[ ]
d) 2++/3

[ ]
d) none
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_ 3 _
x+%—athenx +%3_

x+%=2then x3+%3=

Matching
Group A

(a+b)3
(a-b)’
a®+b?
R

(a+b+c)2

Group B

A (a-b)(a’+ab+b?)

B. a°-3b(a+b)-b’

C. a’+3ab(a+b)+b’

D. a* +b*+c” +2(ab+bhc+ca)
E. a’-3ab(a-b)-b’

F. (a+b)(a’ +ab+b?)

G. (a+b)(a*-ab+b?)
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